Orthogonality property of the Sinc-function

In[779]:= Plot[{
Sin[Pix] / (Pix),
Sin[Pi (x-1)1/(Pi (x-1)) },
{x, -4, 4},
PlotRange -» All,
PlotStyle » {Red, Blue}]

out[779]=

In[780]:= Plot[{
Sin[Pix1/ (Pix),
Sin[Pi (x-1)]1/ (Pi (x-1)),
Sin[Pix]/ (Pix)*Sin[Pi (x-1)1/(Pi (x-1))},
{x, -4, 4},
PlotRange -» All,
PlotStyle » {Red, Blue, Black}]

out[780]=

nret- Integrate|
Sin[Pix] / (Pi x)
*Sin[Pi (x-1)1/(Pi (x-1)), {X, ~», ®}]

ou7s1l= O



2 | ortho.nb

In[782]:= Plot[{
Sin[Pix]/ (Pix),
Sin[Pi (x-3)]/(Pi (x-3)) },
{x, -4, 6},
PlotRange - All,
PlotStyle » {Red, Blue}]

1.

out[782]=

In[783]:= Plot[{
Sin[Pix]/ (Pix),
Sin[Pi (x-3)]/ (Pi (x-3)),
Sin[Pix]/ (Pix) *Sin[Pi (x-3)]/(Pi (x-3))},
{x, -4, 6},
PlotRange -» All,
PlotStyle » {Red, Blue, Black}]

1.

out[783]=

In[784]:= Integrate[
Sin[Pi x] / (Pi x)
#Sin[Pi (x-3)]/(Pi (x-3)), (X, ~», ®}]

out[784]= O



